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e ‘“m Read the followmg four texts. Answer the questions below each text by choosing A,B,C,or ﬂ

I came to live here where I am now between Wounded Knee Creek and Grass Creek. Others came too, and we made there little gray
houses of logs that you see, and they are square. It is a k’gv way to live, for there can be no power in a square.

You have noticed that evgrythmg an Indian does is in a girele, apd that is because the Power of the World always works in circles, and
everything tries to be round. ln the old days when we were a strong and happy people, all our power came to us from the sacred_hoop of the
nation, and so long as the hoop \Was_unbml( n, the people flourished. (The ﬂowenng tree was the living center of the hoop, aqd the circle of
the four ers nourished it. The east gave peace and light, the south gave warmth, the west gave rain, and the nonh with its cold and
mi‘ghfy wind gave strength and endurance Thls knowledge came to us from the outer world with our religion.

Everything the Power of the World does is done in a circle. The sky is round, and I have heard that the earth is round like a ball , and
so are all the stars. The wind, in its greatest power, whirls. Birds make their nests in circles, for theirs is the same religion as ours. The
sun comes forth and goes down again in a circle. The moon does the same, and both are round. Even the seasons form a great circle in their
changing, and always come back again to where they were. The life of a man is a circle from childhood to childhood, and so it is in every-
thing where power moves. Our tepees were round like the nests of birds, and these were always set in a circle, the nation’s hoop, a nest of
many nests, where the Great ;;gﬁTmemt for us to hatch our children.

But the Wasichug/have put us in these square boxes. Our power is gone and we are dying, for the power is is not  not_in us any more. You
can look at our boys and see how it is with us. When we were living by the power of the circle in the way we should, boys were men at
twelve or thirteen years of age. But now it takes them very much longer to mature.

1. From the passage, we can see that the Indians

-’z?" A. don’t have modern facilities in their homes _ B are content to live where they are
% strongly dissatisfied with their present status A D. are demanding better housing conditions
\ | 2.To the narrator, roundness stands for _____. '
¢ 'Mxmre better life : B. the past glorious life
C. the past achievements of the Indians - D. nature around the Indians

| 3. In the third sentence of paragraph 2, the “four q}}ggt_qp_s_" refers to

A. the four comers of the Indians’ houses

\B.}thzfour elements that are believed to make up everything
C

e four seasons
\
D. the four directions
=

4. In the first sentence of paragraph 4, Waswhus probably refers to
|

A. the Indian’s enemies B. the white men
C. the Great Spirit D. the Power of the World
5. What is the narrator’s feeling about their present living?

\ A,discontentment 'B. pleasantness C. anger D. no feeling

« G




The Supreme Court’s recent decision éllowing regional interstate banks)has done away with one relsuiction in America’s banking oper-
ation, although many others still remain. Although the ruling does not apply to very large money — center banks, it is a move in a liberal-
izing direction that could at last push Congress into framing a sensnble legal and regulatory system that allows banks to plan their future be-

yond the next court case. ,!f 4 ; - i )
The restrictive laws that the courts are interpreting are mainly a legacy of the bank failures of th 1930’5/./'[1h'é current high rate of bank

failure—higher than at any time since the Great Depression—has made lzdg'él‘ ors afraid to remove the restrictions. While their legislative ti-

midity is understandable, it is also mistaken. One reason so many American banks are getting into trouble is precisely that the old restric-

tions make it hard for them to build a domestic baseQarge and strong enough Jto support their actlvmes in today’s telecommumcatmg, round {

—the — clock, around — the — world financial markets. In trying to escape from this restrictions, banks are taking(enormous, and what-

should-be-unnecessary , \risks. Mwould a large bank be buying small, failed savings banks at inflated prices if federal law and

states regulations permitted that bank to expand instead through the acquisition of financially healthy banks in the region? @rse not. )The
solution is clear. American banks will be sounder when they are not geographically limited. The house of Representative’s banking commit-
tee has shown part of the way forward by recon{mending commonsense, though limited, legislation for a_five — year transition to nationwide
banking. This would give regional banks time to group together to form counterweijghts to the big money — center banks. Without this breath-
ing space the big money — center banks might soon extend across the country. B_ui any such legislation should be regarded as only a way sta-
tion on the road towards a complete examination of American’s suitable banking legislation.
6. The author’s attitude towards the current banking laws is best described as one of :
X \%ﬂcemed dissatisfaction B. tolerant disapprovﬂ ‘ /ncaring indifference D. great admiration
7. Which of the following best describes why the restrictive banking 14ws of the 1930’s are still on the book?
A. The bank failures of the 1930’s were caused by restrictive courts.
B. Banking has not changed in the past 50 years.
C. The banking system is too restrictive,but no alternatives have been suggested. /
. D/Legislators apparently believe that banking problems similar to those of the Depression still exist today.
P:S' The author argues that the change to a nationwide banking systems should be __
"h\gradual so that regional banks have a chance to compete with larger banks
" B. postponed until the consequences can be evaluated
C. immediate because we cannot afford any more bank failures
_ D, dccelerated to overcome legislative fear
Y 9. Which of the following best expresses the main idea of the passage?
A. Thé current banking law must be interpreted by the Supreme Court to be useful to today’s banks.
=~ B/Although there are currently many bank failures, the nature of banking has not reaily changed that much.
\C\Money-center banks currently have too much power as compared with the regional banks.
‘D. Because current laws are not responsive to contemporary banking needs, banks have been forced to ta.ke needless and dangerous risks.

2 10 In the first sentence of paragraph 2, mterpretxgs probably refers to
A. according to B. explaining ¢ /c{rrymg on D. doing away

. Text3
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Advertising is a form of selling. For thousands of years there have been individuals who have tried to persuade others to buy the food
they have produced or the goods they have made or the services they can perform.

But the mass production of goods resulting from the Industrial Revolution in the 19th century made person — to — person selling less effi-
cient than it previously was for most products. The mass distribution of goods that followed the development of rail and highway systems
made person — to — person selling too slow and expensive for almost all companies. At the same time, however, a growth in mass communi-

cation occurred first in newspapers and magazines, then radio and television that made mass selling possible. Advertising, then, is merely




o i 60 ik P 160

o
selling or salesmanship functioning in the paid space or time of various mass communication media.
The objective of any advertisement is to convince people that it is in their best interests to take an action the advertiser is recommen-
i
ding. The action may be to purchase a product, go to a showroom to try the product, use a service, vote for a political candidate, make a

contribution, or even to join the army.’ Like any personal salesperson, the advertisement tries to persuade. The decision is the (’érospeét’s.

-

While advertising brings the economies of mass selling to the manufacturer, it produces benefits for the consumer as well. Some of
those economies are passed along to the purchaser so that the cost ¢ of a product sold primarily through advertising is usually far less than that
of one sold through personal salespeople. Advertising also brings people imm diate about products that have just come on the market.
Finally, advertising pays for the programs on commercial television and radio and for about _two thirds s of the cost publishing magazines and

newspapers.

11. Persopéto-person sale failed to meet the need
B A _Avhen thé ir;(iustﬁal Revolution started
B. when goods began to be produced in great quantities
C. because trains replaced men in carrying goods around .

D). as attention was shifted from distribution to production

/’\ 12. From the last sentence of the second paragraph we learn ;
A. adyertising is not different from person —to — person selling in substance
\Bji:enising extends sales promotion to a larger area
iﬂ\éidvertising has greatly improved the production of goods
. it is very expensive to advertise a new product

13. By saying that “the decision is the prq§gp§p’s" ,the author means
‘A. advertisement often persuades peoxplev to buy what they don’t really want
B adertisement can never really influence people’s ability to decide

\Qﬁl’e\ther to buy an advertised product is up to the customer

Py the effect of an advertisement on the public is difficult to determine

14. The last paragraph is mainly about __~
A. thé cost of advertising a product B. the effect of advertisement on people’s lives
C Ahe benefits advertisement brings D. various media for advertising products

15. Which statement is right according to the passage?
“A-We don’t need person — to — person selling any more.
“B-Since the Industrial Revolution, person — to — person selling disappeared.
C. Advertising pays for about two thirds of the cost of the programs on commercial television and radio.
‘-\VAiiverlising pays for about two thirds of the cost of publishing magazines and newspapers.

e

The economic expansion prompted by the Second World War triggered a spectacular population boom in the West. Of course, the re-
P a— popuZation boom,
gion was no stranger to population booms. Throughout much of its history, western settlement had been characterized by spurts, rather than

by a pattern of gradual and steady population growth, beginning with the gold and silver rushes of the 1850’s and 1860’s.

The decade after the First World War—the 1920’s—witnessed another major surge of people pouring into the West, particularly into ur-
ban areas. But the economic depression of the 1930’s brought this expansion to a ! alt; some of the more sparsely settled parts of the region
actually lost population as migrants sought work in more heavily industrialized a.reés.‘tB'y 1941, when the United States entered the Second

World War and began to mobilize, new job opportunities were created in the western part of the nation.

If the expansion of industries, such as shipbuilding and aircraft manufacturing, was most striking on the Pacific coast, it also affected
interior cities like Denver, Phoenix, and Salt Lake City. Equally dramatic were the effects of the establishment of aluminum plants in Ore-
gon and Washington and the burgeoning steel industry in Utah and California. The flow of people into these areas provided an enormous im-.

ELES to the expansion of the service industries—banks, health care services, and schools. Although strained to the limit by the influx of

. 8.
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newcomers, western communities welcomed the vast reservoir of new job opportunities. At the same time, the g@gggélt;_aexm%f

government installations in the West, such as military bases, WAS land had served as a _magnet for

western migrants in the late nineteenth century, so wartime mobilization set in motxon another major expansion of population. Indeed, it
could be said that the entire western United States became a glant boomtown durmg the Second World War. This was especially true of Cali-
fornia. Of the more than eight million people who moved into the West in the decade after 1940, almost one-half went to the Pacific coast.

In fact, between 1940 and 1950, California’s population surged by more than three million people.

16. What is the main point of the passage?

. California dominated the economic growth of the West during the Second World War.
B. Industrial growth during the 1940’s attracted large numbers of people to the West.
C: military drew people away from civilian jobs during the 1940’s.
" he West experienced grz;dual and steady economic growth from 1900 to 19 ‘
{/ 17. Why does the author mention “ the gold and silver rushes of the 1850’s and 1860’s” in the first paragraph?
A. As causes of gradual population growth. -
B. As contrasts to later patterns of population growth.
C. As illustrations of a market economy.
/' As examples of western population booms.
) 18. Which of the following statements about the shlpbulldmg industry is s\ggest\ed by the passage?
b A. It came into being during the First World War.
B. Mapy new shipbuilding yards were established on the Pacific coast during the 1940’s.
\C/{i::er was considered to be a poor, location for shipbuilding factories.
D. Shipbuilding was the dominant industry in Oregon and Washington.

19. According to the passage, what was oge result of the building of new military bases in the West in the the 1940’s?
A, Military bases in other parts of the United States were closed.
B\Maqy settlers were forced off their land.

\g)lfany civilian jobs were created.
D. The cost of living rose sharply in California and other western states. !
20. It can be inferred from the passage that the pﬁp\cipal «cause of California’s population surge between 1940 and 1950 was

~—

A. the increased availability of land
B. people’s desire to live in a warm, coastal climate _
~_(the industrial mobilization necessitated by the Second World War

D. overcrowding in urban areas in other regions of the United States

P@lft B

In the following article ,some sentences have been removed. Choose the most suitable one from the list A—G to fit into each of] l
\

the numbered blank. There are two extra choices,which do not fit in any of the gaps.

Of all the areas of learning the most important is the development of attitudes. Emotional reactions as well as logical thought processes
affect the behavior of most people.

“The burnt child fears the fire” is one instance; another is the rise of despots like Hitler. Both these examples also point up the fact
that attitudes stem from experience. In the one case the experience was direct and impressive; in the other it was indirect and cumulative.

1.

The classroom teacher in the elementary school is in a strategic position to influence attitudes. This is true partly because children ac-

quire attitudes from those adults whose word they respect.) 2.

5 ﬁo a child who had previously acquired little knowledge of Mexico. his teacher’s method of handling such a unit would greatly
affect his attitude toward Mexjcans/.;}
The media through which the teacher can develop wholesome attitudes are innumerable. (Social studies (with special reference to races,

creeds and nationalities) ,science matters of health and safety, the very atmosphere of the classroom--%}. -
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However, when children come to school with undesirable attitudes, it is unwise for the teacher to attempt to change their feelings by ca-
joling or scolding lﬁem. "She can achieve the proper; effect by helping them obtain constructive experiences.

fTo illustrate, first grade pupils afraid of policemen will probably alter their attitudes after a classroom chat with the neighborhood officer
in wEich he explains how he protects them] 4.

‘LFinally, a teacher musl constantly evaluate her own attitudes, because her influence can be deleterious ( X} & >4 Z ) if she has

personal prejudices) 5.

O

A. -Another reason it is true that pupils often delve somewhat deeply into a subject in school that has only been touched upon at home or has
possibly never occurred to them before. o
B. This is especially true in respect to controversial issues and questions on which children should be encouraged to reach their own deci-
sions as a result of objective analysis of all the facts.
=13 The pupils need their teachers’ guide at any time, and only in this way can they avoid making mistakes.
D). In the same way, a class of older children can develop attitudes through discussion, research, outside reading and all — day trips.
li. The Nazis were indoctrinated largely by the speeches they heard and the books they read.
F. If the pupils are afraid of the police, they will hold the attitude forever.

G. These are a few of the fertile fields for the inculcation of proper emotional reactions

[0 Read Vti{le follo&iﬁgle_xi éqrv_f:fll.ﬂy-;nd then translate the underlined segments into Chineseg.l

Men commit nine times as many motoring offences as women. Home Office figures show that the vast majority dealt with by courts for
every type of traffic offence are male.

(1) The disparity between the sexes is greatest for the most serious offences, with men guilty of 97 per cent of dangerous driving of-

fences and 94 per cent for causing death or bodily harm.

Women’s speeding offences have risen by four percentage points in the past five years yet still constitute only 17 per cent of the total.
Women are far less likely to have high — speed collisions resulting in death. Crashes killed 238 women drivers in 2002, compared with 907
men.

In the past ten years the proportion of men with licences has remained at 81 per cent, but that of women increased from 49 per cent to

61 per cent. (2) However, the proportion of all motoring offences committed by women in the past five years has risen by only one percent-

age point, to 12 per cent.

Parking appears to be the only area of driving in which women have a poorer record. (3) Insurance claims showed in 2002 that women

were twice as likely to have a collision in a car park, were 23 per cent more likely to hit a stationary car and 15 per cent more likely to re-

verse into another car.

Mary Williams, chief executive, of the road safety charity Brake, said: “(4) The Government should place more emphasis on chan-

ging men’s attitudes to driving and improving their safety skills, through advertising in mediums such as men’s magazines and through educa-

tion in the workplace. Particular concerns are excessive speed, high — risk manoeuvres such as overtaking dangerously, and driving when

tired. ”
Steve Stradling, Professor of Transport Psychology at Napier University, Edinburgh, said; “A key factor is that women get less fun out

of risk — taking. (5) People speed because they are under pressure, and women have different patterns of obligations. Men are more likely

to speed to make a business appointment. ”
In a survey for the Scottish Executive, Professor Stradling found that 82 per cent of women approved of speed cameras, compared with
68 per cent of men; 45 per cent of women believed that motorway speed limits should never be broken, compared with 30 per cent of men.
Nearly two thirds of men drive cars with an engine bigger than 1.6 litres, compared with 42 per cent of women. Women are also less

likely to be members of the groups that campaign for an increase in speed limits.
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